
∏
i=0

i<n

[ x cos(
iπ
n

)+ y sin(
iπ
n

)]−z=0

Für n = 3 gilt

[ xcos (
0π

3
)+ ysin(

0 π

3
)][ x cos(

1π

3
)+ ysin(

1π

3
)] [ xcos (

2π

3
)+ y sin (

2π

3
)]− z=0

Mit

cos(
0π

3
)=cos (0 °)=1

cos(
1π

3
)=cos (60 °)=

1
2

cos(
2π

3
)=cos(120 °)=−

1
2

  und  

sin(
0π

3
)=sin(0°)=0

sin(
1π

3
)=sin (60 °)=√3

2

sin(
2π

3
)=sin(120°)=√3

2

erhalten wir 

x [ 1
2
x+√3

2
y][−1

2
x+√3

2
y]− z=0

Multiplizieren wir die beiden Klammern aus.

[ 1
2
x+√3

2
y][−1

2
x+√3

2
y]=−

1
4
x2

+
√3
4
xy−√3

4
xy+

3
4
y2

=−
1
4
x2

+
3
4
y2

Damit erhält man für n = 3

x [−1
4
x2+

3
4
y 2]−z=0



Das Ergebnis der Formel.
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